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Superlatives

A C�m�{k�k �qk maf�� a�i �t�� ad��� itnkrk�� �{afk� t� �qk  �r{i� 
U�k �qk ���kr{a�tvk m�rm� �m �qk aijkf�tvk� �r the most/ the least 
 t�q �qk ������ 

�. ___U (big) natsonaz pa�k in the wo�ld is in G�eenzand�
2� (fast) �ozzer coaste� in Eu�ope is sn Spasn�
3� 5anada has VYYW (long) coastline in the wo�zd� It's g�eat fo� ssghtseeing�
4� ___U (expenss�e) hotez in tqe wo�zd is sn Dubai� Tqe �oo~s cost o�e� $10,000 a night�
5� (good) ti~e to �ssit Thasland ss f�o~ No�e~be� to Feb�ua�y� These a�e the ~onths

wsth X_YU �good� weathe� begau�e the�e i� (�ain)�
6. Su~~e� is _YYU (bad� ts~e to �isst Venice begause that's when the�e a�e _Y_U (tou�ists)�
7� The csty tqat has (peopze) sn the Onited State� is NewYo�k5sty� 
8� The city wsth (za�ge) popuzatson in the wo�ld ss Shanghai� 
9� (deep) lake in the wo�zd is Lake Baskal in Sibe�sa�

��. (s~azl) co�nt�y sn the wo�ld is Vatscan 5ity in Ro~e� ?t's azso ZY[\ popuzated
count�y with onzy "00 snhabstants�

 

Question� with How+ adjective .�� ?

A C�m�{k�k �qk q�k��t��� a�i a�� kr� ad��� K�at�� U�k �qk  �ri� mr�m �qk d�¢� @f ¤�� i���� �kki a 
 �ri �� f�m�{k�k �qk a�� kr��  rt�k a ia�q�-	� K�mk  �ri� ark ��ki m�rk �qa� ��fk� 

big deep hsgh qot long 

�� Q: How is Mount Teide sn Tene�sfe, Spain. 
0) It's 4,964 ~ete�s (16�286 fee�) __Y ] 

2� Q* How __YU ss the coastlsne.
0) It's 7�5�� kizo~ete�s �4�6�1 ~szes) __Y ̂

3� Q: How ss the popuzatson of Spain. 
1+ At'� az~o�t �� ~izlio� peopze _YY _ 

4� Q) What is the za�gest natu�az |ake sn Spain. How ss st. 
0) Dake Sanab�sa is 51 �ete�s (�6� feet) _Y_ ̂

5� Q: How ss st tn southe�n Spasn sn 0ugust. 
0, Bt is usuazzy a�ound �"°6� ('0°; __Y ̂  
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Verbs let, make, help, have, g��, want, ask� tell

A Complete the sentences� Use the correct forms of the verbs given� 

1. 
2. 

3. 
4. 
5. 

6� 
7� 
8� 
9� 

10� 

Sometimes there is more than one correct answer� 

I �7ew ay ?hR\dnFe _./0.1 (a7kF) Niid dF?RsRies Jio whFasF[~Fs� 
" die'w \Fw ay kRds (k\7y) ?iakuwFn N7aFs <FJinF <FdwRaF� 
"w a7kFs whFa �s\FFk
 <7d[y� 
I usu7\[y a7kF ay wFFe7NFns (?[F7e uk) whF kRw?hFe 7KwFn aF7[s� 
I �7ew wi NFw ay kRds (F7w) �F[\� ThFy'nF 7\�7ys F7wReN juek Jiid� 
" usu7\\y wF_[ ay WRBs �di
 whFSn hiaF�ink =FJinF BSeeFp, =uw " Bie'x hF\k 
whFa (di) Rw� 
I'a 7[�7ys 7skReN whFa 23./45 (wune iJJ ) whF \RNhws Re whF hiusF� 
I h7~F whFa (shuw di�e) whFRn ?iakuwFos 7w eRNhw� 
I'a 7\�7ys wF\[ReN ay kRds �<F) ?7nFJu] �hFe whFy Ni iuw� 
I 7\�7ys h7~F ay kRds (�nRwF) wh7ek-yiu [FwwFns �hFe whFy NFw 7 NRL� 
WF iKyFf hF\k iuo sies (sw{dy) Jin Fx7as� WF a7kF uk N7mFs Jin whFa� 

used to and would

A ReaC this person�s memories abo|t her s|mmer vacations� Rewrite eight segtences |sing used to 
or would. SomGtimes both are correct� 

WhFe I �8s yiueNFo, �F h7d [ieN s?hii[ ~7?7wRies Re whF sumaFn � 7<iuw �0 �FFks� I s7� 7 \iw iJ 
ay FxwFeDFd J7aR[y Re whisF d7ys� ThFy [R~Fd 7<iuw �0 aR\Fs 7�7y� My ?iusRfs ?7aF wi sw7y 
F~Fny subaFo� WF dRde'w h7~F 7 <RN hiusF [RkF �F di ei�� si �F 7[�7ys ?7akFd Re whF <7?ky7od� 
*hFnF �7t 7 swnF7a eF7o iun hiusF� 7ed �F s�7a Re Rw� OeF iJ ay [Rww[F ?iusRes dRde'w [RkF 
u�RccTeN� (hF �9u qH9[[y u@9pFB iJ �:xFp
 :ed ay =niwhFn 7\�7ys wF7sFd hFn 7=iuw Rw� HF a7dF hFo 
Ni Rewi wPF �7wFn� HF �7se'w ~Fny eR?F wi hFo� *h7ek NiodeFss hF's eiw [RkF wh7w ei�! 
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